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The electric motor works on the principles of ..............
(A) FumfleR (capacitors)  (B) Wiy (friction) (C) 9w (couple) (D) 2% (torque)

2. aodl T vaEie gy yEee sl U7

Which of the following reaction is caused by light?
(A) Hz+Cl;—=2HCI (B) 2H20-2H32+0; (C) 2ZNaCl=2Na+Cl: (D) CaCo:—=Ca0+CO-

3. Ge® gelgEd f=uma @ @?

The electronic configuration of Ge is:
(A) 15¢ 252 2P¢, 352 3P6 3d10, 482 (B) 152, 252 2Ps, 352 3P6 3410, 452 4p2

(C) 152,252 2Pps, 382 3P6 3d10, 452 4p6 (D) 182,252 2Ps, 352 3Ps 3d19, 45!
4. el M@ euge e vee THER |

Match the following and choose correct option.

H9E (Group) [ 998 (Group) 11
i) Tartaric Acid a)Lemon
i) Citric Acid b)Milk
iii)Lactic Acid c) Tomato

d) Grapes

iv)Oxalic Acid
(A) i-d, ii-a, iii-b, iv-c  (B) i-d, ii-a, iii-c, iv-b
gefR) AR W1 YEAT TS EERIBET . B |

When earth's crust is drilled the hydrocarbon which comes out first is ...........
(A) Yeifesam (Petrolium) (B) fA2M (Methane)
(D) ¥+ (Butane)

(C) g9 (Ethane)
6. Mewies At 3 G oo LB

The correct molecular formula of glycerol is ............
(A) (CHz)2CH (OH)s (B) (CHz)z CH (OH)z (C) (CHz2): CH (OH)s (D) (CH3z): CH (OH):

(€) i-b, ii-c, ili-d, iv-a (D) i-c, ii-b, iii-a, iv-d
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13- 2 Fasrra « affuray

WaEE g aur faegtes e 1 FA1Z4 aqein gz ol
] ¥ s (e I
J:L acid n{u.,uj to manufacture fertilizers and Cxpiltsive is
lr . - . ) . . ' w . " . LEF R
(A) viewyfes ape (sulphuric acid) (B) #igdvn e
(C) wremfie ape . ) ALl A4 (nitric acid)
A (phosphoric acid) (D) uafra e
) Hes g (acetic acid)

aTYyge HA Wity At DRIy

Mosquito belongs to which phylum?

(A) Wretanar (Praotozah,
Ep tuba) (B) sr7em) (Maolask:
(C) sireiigyan [ﬂrthupndu] (D) #=17 fai ":"’ff',l.%

q : [ 7 £ [
fefeerfoyes PUIEAC | s fagm ah wfe e ST |

' Think abg ] ' i
ut the following stz tement in ecosystem and choose correct option.

N .
1) wifeferfan guraia V@A wnfts yame) wgea) wag |
(There is unidirectional flow of energy in ecosystem.)
I.[ ETEI :'-.-‘F ¥ e [ 5 !
) HEEH o Wl Fgwmare afgfas o UAIZE] ] °a2as |

E AT A e
(Energy flow decreases from lower trophic level to higher trophic level)

(A) 153 fas orre
[C; il f%-qn;m[gjij'! f]ju:;f.cl} (B) 133% 11 2% (Iincorrect I correct)
y Il correct) (D) 17 152 2% (Bothland Il correct)

Wﬁmﬁﬁgﬁﬂﬁ ST BREEE |
Match the following and chogse correct option.

AT HE] SEF] 40 (Part of C erebrum) %14 (Function)

1) Frontal lobe a) Auditory stimuli

u) Parietal lobe b) Visual processing

iii) Occipital lobe ¢) Perception stimuli

iv] Temporal lobe d) Emotion

(A) i-d, ii-b, iii-c, iv-a  (B) i-d, ii-c, iii-b, iv-a (C)i-c,ii-b, iii-a, iv-d (D) i-b, ii-a, iii-c jv-d

W?ﬁqﬁaﬁgawqg?ﬁmmmﬁmmﬁ%ﬂmw Ne?

?Eragjg{;l;ﬂbluud transpgrt in a body, what are the components carried by blood?
(B) CO; (C) Nutrients (D) Nutrients and Oxygen

qﬂﬁmmmmm‘aﬁmﬁuﬁm‘ﬁ;?

Aerobic respiration takes place in presenceof ............
(A) Oz (B) Co; (C) Nz (D) H:0

WRER ¥ qeE) Rz wws fRym e

Who has given by the theory of variation and heredi
ty?
[g) @TT% (Lamark) (B) =14 (Darwins)
(C) === (Newton) (D) 3T$=9eTE9 (Einstein)
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B- 3 fasma 7 uforg

DL iy uaaan epasaml aeal @ ae e f1ga?

Which of the tollowing statement is not correct about tiregor John Mendel?
CAY eI g ri s e waer eaqpgfias gl D) 'lﬁ{le

(Hhewas born in THZ2 AD ina merchant tamily)
(1) U e Al T U BT HEE | 1,,'r;‘|\r

(e had done his experiment on pea plant)
(C) o ety s e a=yan o

(He Decome monk in Augustintan monastery)
L) Al B e e madadn e uhdepn ardes n

(He conducted experiments for over a period of 8 year)
15, oflen et ald gae whe ndeieg |

Match the tollowing and choose the correct option,

Metal Ore Metal

1) Hematite a) Aluminium

i) Cryalite b} Copper

i) Azurite ¢) Silver

iv) Pyrolite d) Iron

(A) i-b, ii-¢, iil-d, iv-a (B)i-c, ii-d, iii-a, iv-b (C) i-d, ii-a, iii-b, iv-c (D) i-d, ii-a, iii-c, iv-b

16,y erd) W venfia aReerae wf2 e & 8?

Which is the correct order of time hypothesis regarding origin of earth?
(A) Nebular, Tidal, New planctesimal, Dust cloud

(B) Tidal, Nebular, New planetesimal, Dust cloud

(C) Nebular, New planetesinal, Tidal, Dust cloud

(D) Dust cloud, Tidal, New planetesimal, Nebular

17. Qi) o AYEHl §evae TES O TP B |
' i i : i R d of 13t plan.
The density of internet user in Nepal is .........at en
(A) 45.6‘}: (B) 46.4% (C) 56.4% (D) 44.6%

?irzrﬂavn?mﬁsrﬁﬁm‘lwwmuaﬁmﬁmmmﬁm ............... 2|

18. .
ion technology is

The vision of 14" periodic plan regarding information and communicat
(A) T 2al ey (to support good governance) |

(B) &I anedia gHre FET (to develop knowledge based society)
() fafdrem wur@ a7 (to make digital Nepal)

(D) Wi ﬁ*‘l 219 (none of the above )

19, ST oo @) Qe @ € |
‘ ... is candela.
T!t.m gl ;{E::\r?flg""m . (B) Plane ar_\gle
/5 Srpmeragie (D) Magnetic resonance

(C) Luminous intensity

20. gamﬁwwma—maﬁﬂm ........... _ &9 |

jonary satellite with respect to earth is ...ooews (D) 5m/sec

i Geostat
The velocity ofGeo (B) 15 m/sec (C) 0m/sec

(A) 10 m/sec
Cont«
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WU B gemrdel uld weey fa1?

]. Y B B 7

[zl;t;]P abranch of a tree is shaken, leaves fall down. The reason is that
H WU SERATE HRY (due to inertia of rest)

(B) o1& o) sy (due to inertia of motion)

{;] Rwe) ary (due to inertia of direction)
(D) =1&® & Praga @R (due to third law of motion)

SONAR . &) Ve wy B |

SONAR is the abbreviation of ...

{‘é‘}} :';‘::1": li’»;:_igﬂéiﬁn and Random (B) Sky Navigation and Ranging
ar Ranging (D) Sound Navigation and Ranging

W‘Tﬁﬂﬁ"ﬂ&hﬂﬂ?ﬂ'ﬂﬂ ............. P TRV SEYEG |

The Rainbow in the sky is seen on rain i
. yday is dueto............
[[2; EEARED %I:; {dlsperlsion of light) (B) WoH®! 3Mad (refraction of light)
FERIE] WA (reflection of light) (D) ¥HMI®! ¥R (propagation of light)
ST JPIEP A T g

The value of transformer ratio is:

v N
(ﬁ] _.,,_3,.: 1 E EE_ - ﬁ N.V; _ Nz Vv Ny
Vi N (B) N o (C) N S (D) .,,—:= N

AT FEE A U ORI Rga R . g5 |

The one ampere current flowing through a conductor is equal to ...........
(A) 6.25x10%® electrons/sec (B) 6.52x108 electrons/sec
(C) 5.62x1018 electrons/sec (D) 6.62x1018 electrons,/sec

IM_(Mathematics) --------------- 25%2 = 50 3
yael fameve geardt gea 2500000 | AR @ gew 20% ufy ad g1 g9 9 9w 4o 25600
g1 @fa a4 aren?
The original cost of printer is 250000. If its value depreciates at the rate of 20% per annum, when
will the value be Rs. 256007
(A) 3 year (B) 2 year (C) 4 year (D) 5 year
e A AEE & 276 M1 Al 4% HIeT §U | Afd Iud W WM 6 312 dw aueE 3
yfAerd =w a1 A Ee?
Ram sold an article for Rs. 276 at a loss of 4%. What should be gain or loss percentage if it is sold

for Rs. 3127
(A) 7.5% (B) 8.5% (C) 6.5% (D) 8%

vae ufs@ aifa g 20% ge f2F 13% VAT @fea ofd@ ey & 904 g0 ¥ i uliw

sifa qeu ®A Ewr?

After allowing 20% discount, and levying 13% VAT, the value of a watch will be Rs. 904, then find
arket price of watch.

E:; Tz:.rgznp (B) Rs.1100 (C) Rs.900 (D) Rs. 1000

o2 RS we, P waa Hed, @ fwy qeed NEe n afe ge ufdwa o= g4

g &

If'R’ represent discount P
the formula to calculate discount percent?

C
oy o <P 100 (B) R% =-=x 100

represent market price, 'C' represent selling price, then what will be

c-p =Rx100
(C) R%==—x100 (D) R%=;x10
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B- S fasi 7 wiforg

N Wi NI 109 aureyd ufy R w 1 S g

What sum of m i
: oney will earn Rs. 1 as interest per -
(A) Rs 3650 (®) Re. 1025 erest per day at the rate of 10% per annum?

(C) Rs. 2400 (D) Rs.1200

ad AS e, B e W, ¢ .
L LT , O ﬂq.\ﬂ.-l-f-; :
Yq @ 82 O dd yfgy ARG woTten wd T o P

1A represent principal 'B' re

L B present total amount 'C' ¢ "

per an numl. then what will be the formula to calculate ﬁ:if:lr:;g:taﬁ::l?ﬁ: Of year d' represent rate
A) AL e d y¢ '
(A) A1 =) (B) A(1+ )¢ (©) A[1+?3_n}~:—1
N RS ulY et uR e 2 b @ fRde arFey i Bwe?

Aman pays 2 paisa per Rs. 1 per month. Calculate the rate of interest.

(A) 18% (B) 249% (C) 36% (D) 12%

T THD @G 30% BT GRS SR [ WA % ge?

When will the interest of any sum at 30% becomes % of the principal?

(A) 2.5 year (B) 3 year (C) 2 year (D) 3.5 year
T IR 2068 @ SEEE@ET 2800 RriY | 2070 oW W OMER) SeRiEm T2t 3087 g W

Tite wdEn giger ofy e

The population of a certain village in 2068 was 2800. It is increased to 3087 in 2070. Find the
yearly rate of growth of population.
(A) 4% (B) 6% (C) 5% (D) 7%

o 175 $PF 200 FTEH | THITHN WP UY Bod § 1IE0 M ® 6757 I Ie
afrget?
A first 175 calls can be made in Rs. 200 then charge for each additional call is Rs. 1. How many

calls can be made in Rs. 6757
(A) 550 (B) 650 (C) 750 (D) 475

e cadieE ® 500 AR | g PRt TR € 10 ¥ EIE w6 100 fee® & & 5%
& R 9ae W TS IR g A T @ T

Ram takes taxi paying Rs. 500 initially a r.ninimlum of Rs. 10 charged and then Bs. 5 per 100 meter.
Find the total distance travelled by Ram in taxi.
(A) 10km (B) 9.2km

60 qre® 10 e o wfa A 10 goeT@ &Xo 30

e fgael?

What will be the costo

d
(D) A[(1+75¢ -1)

(C) 9.8km (D) 9.6km
R 9R g ® 531 & de W i

i t
fusing 10 bulbs of 60 watts each for 10 hrs daily for a month of 30 days a

it? 850
an average rate of Rs. 5 per unit C) Rs. 1000 (D) Rs
(A) Rs.950 (B) Rs.900 © - 50 | af s @i
 firex vl st er 80 A #IET??FF'EE ®Sal AT
IILQI . 450 'Hﬁ mﬁl E'T‘ﬂrﬁ‘ ﬂ;ﬁ gﬁ'ﬂ " mwideatRS.q'E permemr_What
Rs. 3600 to carpeta office room 5Sm wide with carpet 80¢
If costs Rs. - D) 12.4m
is the ]ESgth of room! (B) 126m (C) 12m (;ﬁ Srr?
[‘a‘):;m ﬁwmﬂﬂWZlﬁﬁﬁﬁﬁﬁuﬂﬁ% sl
gy area of cube s 216m?, find its "'“hémez'zu m3 (D) 218 m3
If the total surface 216 m? (€)
(A 212 m? ® Contd.
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B- 6 g3 T it A
0. TR PT v g e X ro 0% NSO WANED W I AAER dwa) Paae o
e Ak daow @ gu?
If 'P' represent length 'q’ represent breath and 'r' represent width of path of a rectangular tield.

What will be the area of path running inside a rectangular field?
(A) 2r(P+q-2r) (B) r(P+g-2r) (C) 2r(P-q+2r) (D) 2r(P+q-r) n

4. 209 o v qew 169 | g w@ dedord 3 7oM Tal T v g e dven?
The mean of 20 number is 16. If each number is multiplied by 3, what will be the new mean?
(A) 16.3 (B) 15.7 (C) 16.5 (D) 167
42. TS A e 25, ReARAre) @G 55+a ¥ ARERA] X A e TURET) A0
(13454262 W a®m 7 Ffy go?
In series, if mean is 25, sum of frequencies is 55+a, and sum of product of frequency and mid val

is 1345+26a, then find the value of a.
(A) 40 (B) 35 (€) 30 (D) 50

43, O 20153 RN 7000 T Wt 7 R IR 89 R < Dol Ber?

In the year 2015 in Jumla, if the producti i i
. ct fappl As in fig). What will be the
production of rice? p ion of apple was 7000 tones (As in fig). Wha

(A) 28000 tone (B) 29000 tone (C) 29500 tone (D) 30000 tone

44. TITT HAPS 100921 §2T YT ONAR FHT WM 1 5ve] wSED | aft 99 REEa 7 a9
T YH T 1000 1 QT Y a9 BF GFor?
A labourer takes 1 hour to carry 100 bricks from one place to another. If he starts to work at 7AM

and has to carry 1000 bricks, at what time does he finish the work?
(A) 5PM (B) 6 PM (C) 4PM (D) 7 PM

gfe 20w Rorfee 12 R 200 950 ame @Feq ™ 8 o Raifee 10 R ofy S0

IHG EIF G 7
If 20 soldier consume 200kg of rice in 12 days, what quantity of rice will 8 solider consume in 10

days?
(A) 67 kg (B) 66.5kg (C) 66.67 kg (D) 60 kg

W 24000 8 T WIFEwoR JB ¥4 10 4 Afuewer &fa wodr w@fis?

If Rs. 24000 is sufficient for 8 people, for 10 people how much is required?

(A) Rs.28000 (B) Rs. 30000 (C) Rs.32000 (D) Rs.36000
20% & 9aa1 ERP! To® AW © 18660 B W4 U UReH o9 R R B

Due to an increment of 20%, Hari's income is now 18660. Find his previous income.

(A) Rs.14928 (B) Rs.15500 (C) Rs.15000 (D) Rs.15928
Ffre! qo¥ w1600 9y fFI1 a© % 2400 Wi f6a g 9 ofy witeme oy war

The price of coffee increased from Rs. 1600 per kg to Rs. 2400 per kg. Find the increase percent.
(A) 60% (B) 50% (C) 66.6% (D) 55%

45.

46.

47.

48.

Contd...
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i, n B- 7 famr 7 wifrg
XD AP sy W 120009 | wwe uhy
) - AT 85% @d TS Y @ adm o aua
Gopi dai's monthly income is R
5.12000. is i
. E:;'Egli“ e 00. Ifhe spends 85% of his income per month, how much he
000 (B) 21600
(C) 26000
50. T TVsWReH 1 iy
: - 118891 &==1 qaem™T 10% 7o
ikl BK o Y ABH 10% FH 58 S wwowE
Two T.Vs are sold for Rs. 1188 each. On i
hisIogs o gai Serceritage intudl -Un one, the seller gain 10% and on other he loses 10%. Find
(A) 2% loss (B) 1% gain (C) 1% loss (D) 2% gain
~The End ~
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